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cobs(x = x, y =y, constraint = "increase", lambda = -1, pointwise = con,

trace = 3)
0-0-0-0-0-0
N~ @]
T \
_0
o}
@
o —
|
o}
2
N
o o}
o — \
| o 0-0-0-0-0-0-0-0-0
\
o}
H \
o —
| 0
N °-0
°|° _

| | | | | | |
le-04 1e-03 le-02 le-01 1e+00 le+01 le+02

pp.lambda



1.2

1.0

0.8

0.6

0.4

0.2

0.0

cobs(x,y, constraint="increase", pointwise = *)

-0.5 0.0 0.5

1.0




pp.sic

2.2

2.1

2.0

19

1.8

|
le-02

I
le-01

|
1e+00

I
le+01

pp.lambda

I
le+02

|
1le+03

I
le+04




pp.sic

2.5

2.4

2.3

2.2

2.1

2.0

1.9

1.8

0-0-0-0-0-0-0-0

O
/
)

0-0-0-0-0-0-0-0

|
le-02

I
le-01

|
1e+00

I
le+01

pp.lambda

I
le+02

| |
1le+03 le+04




dist

120

100

80

60

40

20

cobs(speed,dist, ..) for data(cars)

25




25

20

15

10

Artificial (x,y), N=500 : “interpolating' cobs()

-3

L] HHHH\l 1.0 0. 1 Hl I

-2 -1 0 1 2



00, “interpolate’ cobs(x = x, y =y, constraint = "decrease"”, knots = ux, nknots = le
Artificial, N=500, “interpolate’ degree = 1)
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Artificial (x,y), N=500 : cobs(*, lambda = -1)
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